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CE-802 (B) (GS)
B.Tech., VIII Semester
Examination, May 2022
Grading System (GS)
Foundation Engineering

Time : Three Hours

Maximum Marks : 70
Note: 1) Attempt any five questions.

21 aTg we=T @t ga1 e

11) All questions carry equal marks.
Tt weAt & FHH 3 Bl

iii) Any missing data may be assumed suitably.
afe 1E srer 1@ g ar S| o= A

iv) In case of any doubt or dispute the English version
question should be treated as final.

foreft oft PR & g arueT farg it Ry o sish ymr
P 09T P AT AT SR

I. a) What do you understand by significant depth of soil
exploration? List out the various methods of site

exploration. 7
ST 0T Y HERYY TERTE | AN T AN 87 WiEe
raror <t fafirar faftrll Y et amew
b) Define Floating Foundation. Explain propertioning of
Raft foundations. 7
AN e 1 aRemer S e wrEder & s
! TSI
CE-802 (B) (GS) PTO
165

(21

2. a) Differentiate between SPT and SCPT. 7
SPT 3R SCPT & &g 3= ¥ Hifg|

b) Give BIS method for calculating bearing capacity of

foundation. 7

i @t ag eman i oE & forg BIS faftr v
3. a) What is static load carrying Capacity of Pile? Give its

expression also. 7
Iget Wit W g8 e 391 & 7 39! sifeafdd of
afm

~ b)  Arectangular footing 2 m x 3 m carries a column load of
600 kN at a depth of 1 m. The footing rests ona c - ¢ soil
strata 6 m thick, having poisson's ratio of 0.25 and Young's
modulus of elasticity as 20,000 kN/m?. Calculate the
immediate elastic settlement of the footing. 7
24t x 34, &1 g AR AUR 1 Hfiex @it TERE ®
600 kN &1 T4 R a8 Xl ¢l AR 6 T Aidt c- ¢
gt &t oxa W Rl g &, R ofgw &1 3 0.25 3R
T 1 Y oI 20,000 KN/m?2 | gsi%rr & gifede s
Heamie 6 1UHT B

4. a) Write short note on bore-log report with neat sketch. 7

IR~ Raié R T Yafas & ary wiém feoeft fofag
b) Give comparison of Rankine's and Coulomb's theory. 7

e ok e F Rigia &t g Hifomi

5. a) Define Pile Foundation. Discuss about the types of pile
and their functions. 7
e FISSer P AR HIRI aEe & TR AR IS
ot & IR § 7= &R

b) Derive Boussinesq equation for a point load. 7

e fig UR & o1y Boussinesq HHieRur HTH &3
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6. a)

b)

b)

(3]

What are the different methods of soil stabilization?
Explain with neat sketches. 7

ne1 R i ffte fRiftaT BiH-w & 72 s Wt

SN HH=ATgN

Compute the intensities of active and passive earth
pressure at depth of 10 m in dry cohesion less sand with
an angle of internal friction of 30° and unit weight of
18 kN/m3. What will be the intensities of active and passive
earth pressure if the water level rises to the ground level?
Take saturated unit weight of sand as 22 kN/m?. 7

30° % HiaRe eor 0T 3R 18 KN/m> & FH1$ TR & T
oS |Eo T Y § 10 Hiex $it e R 9k IR
fifsrr gedt garg &t dtgar H mor W) AR T TR
it R e Ig AT & a1 wfik ok s gedt & g
<t et F1 2rft? ¥ &1 [IH IHE WR 22 kN/m® &

Define Safe Bearing Capacity. List down effects of
negative skin friction. https://www.rgpvonline.com 7
A frafn HfE o aRnfia Fifsrer FeREs ==
gdur & wrEl H g e

Determine the stresses at the top and bottom of a vertical
cut, 5.5m deep in soil with ¢' = 15° and c¢' = 0.92 tm?
(19.2 kN/m?) and y= 1.85 /m®. What could be the depth

of the potential crack? What is the maximum depth of
excavation that can be left unsupported. 7

¢'=15° 3R ¢'=0.92 m? (19.2 kN/m?) 3R y= 1.85 /m?
& Y g 1 5.5 mmed, StahtR e F IR IR Hw
e 1 iR @) gieRimet the B TeRiE 71 @ wad!
27 I & aiftreray T e R AR R weR &
BIeT 1 HahT 2|
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8. a) Discuss essential difference between Boussinesq's and
Westergaard's theories. 7
Boussinesq's 3R Westergaard's ¥ Rigal & €19 3499
SR Pt 7@t W

b) Explain in detail the rotary drilling technique. State also
its advantages over other methods of boring. 7
Aed R doie 1 AR § wwenge AR 6 s
frfr &t ot o gwd v off s
oo o 3k ok ok
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